WOODEN CAT CRATE

L
/£

\ & \.\w\.\.\\\\\

s

N TTT7
r .\\\\\\\\
77

/A A




You need

Power tools should

this product.

@ Tools required
APhillips head scre
wariver is required for]

the assembly of this

product. (not included)

not be used to assemble

@2 person is needed

TA

©OTake 30 minutes

Technical Specifications

Material

wood

Colour

Gray

Description Quantity Box Number
’
1 | Upper front part % 1 12
2 Lower front part 1 -12
rai
3 Upper back wall 1 12
4 Lower back wall 1 -12
5 Upper side panel, left 1 -12
6 Lower side panel 2 22
7 Upper side panel, right 1 -12
8 Roof 1 -12
9 | Upper door 1 22
10 Middle/lower door 2 2
11 | Step 1 22




Pos. Description Quantity Box Number
12 Cage roof -22
Six holes/seven holes
13 Inner ramp 22
14 Upper cage side panel, rear left 222
Lower cage side panel
15 -22
Eight holes
Upper cage side panel, rear right
16 ; -22
Six holes
17 Upper cage side panel 22
Zero holes
Lower cage side panel, front left
18 22
Two holes
Lower cage side panel, front right
19 g . . -22
Three holes
20 Upper/lower cage front part -12
21 Lower cage front part -12
29 Outer ramp ] ” “ ” ” ” _E 22
-22
23 Outer ramp ] ” “ ” ” ” j
24 Upper front part door E -12
25 Upper cage side panel, rear left -22
26 Lower cage front part door -12
: ] ’ -22
27 Upper/middle side, left/right |
28 | Upper/middie side, middle [ | 22




Quantity Box Number

A | Countersunk screw — M4 x 50 mm 40+1 (gift) -12
B Countersunk screw | M4 x 40 mm 12+1 (gift) -12
C Countersunk screw —vn M4 x 35 mm 41+1 (gift) ~12
D Countersunk screw e m3x 20 mm 24+1 (gift) —12
E | Countersunk screw ~swmn m3 x 12 mm 42+1 (gift) -12
F Countersunk screw | M3 x 10 mm 12+1 (gift) -12
G | Hinge 9 -12
H Bolt % 3 ~12
I Countersunk screw <:nmmj M3 x 16 mm 4+1 (gift) -12
J Guide book Gl ook 1 -12

&Check the package contents before getting started !
STEP 1




STEP 2

; /\§§\\\\>//

STEP 3

\_.,é\\>/

4




STEP 4

o)
/N \ S
(RS it
Tl \%M i ‘
— C“ ) m“ n ! m) i __ mj
LI
AU 5




STEP 6

7PCJ

EIRUEICIVIELT

L

SR
| A |oPC |

£

° o

S

@ o

N

—~

A

®
STEP 7




STEP 8

< | o | [ =
!

L@ [tre J [ @ [irc) [ @ [ipc)

>@ +J L@\ 2pc_J(@D | 1PC




STEP10




